


4218
gz B 25
e b

1R = 4%4@+2%46° 'MZW‘ 12
09 = [¥18+FHE7 1 bex A3
12
1+







(a+ib Werid) = are+ilbrd)

[a-&i@@/l—fa/) - [QC”EG{}fi@J—f/QCD
1=-1

74 WM@&A éacj VS . . . ﬁz U%,D%
(a_)-ib)(a——’fzo) :\él/_tc:/p -

“erpack o« |
asib _ fasib)(e=id) LT
ciid  ferd)le ) =

¢ ékﬁ/—
W fé 2:1 ,,,? _ I
T T e

[eal






W%()’&W and ﬁﬂ/&é[’/?}a

=71
- ; nl
%(éﬁz Nn=0=0 ”
% = "
ol =" r
— !
) ‘ <0
X’J&(},@; @’19: z F@}/m






Yal @é{at)m:Ziﬁ“iJ ééﬁ/@/ﬂf

ko fe
A i(z&—%l): 22, ;\(;?/\fi
OO . W\ @WLQ ﬂ
29 ?/2’)9 Q”V”m#e /MZ~
6 = ? even +b,beR
/ —_—
n=0 ‘Qﬂ /@:/;/ 2b+1
2 . 2b+1
2 Gep > @y 7




e @(f)
Z U) “9 2_ (2&107 4

fo=0 @f) lb:’O e
o2 QW =< (,4)
=/ %22)(9 + gfL K
=0
feo )Ll S
o ilfidle e W

j QORI |






LWLV)/LOL | ot g; R+ <K  CONTINUOUS

Accvme = MR, o mqaju/M
\L/ 9(

Such Heab m
BeR g0 M -
m ng@g/% 4% \J&)




%@&k 4 waéa/%@
ﬂ?;:%azf = (- mﬂl = 4-coo

gm& gt = (gD] = B



